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Logic--The discipline that
deals with the methods of
reasoning
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(Double negation) =(=P) & P;

(Associative property) (PA(QAR) < (PAQ)AR);
(PV(QVR))«< ((PVQ)VR)

(Commutative property) (P AQ) < (Q AP);
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We know that Bill, Jim and Sam are from Boston, Chicago
and Detroit, respectively. Each of following sentence is
half right and half wrong:

Bill is from Boston, and Jim is from Chicago.
Sam is from Boston, and Bill is from Chicago.
Jim Is from Boston, and Bill is from Detroit.

Tell the truth about their home town.
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+ We set :
+ P1 = Bill is from Boston
+ P2 =Jim is from Chicago.
+ P3 =Sam is from Boston
+ P4 = Bill is from Chicago.
+ P5=Jimis from Boston
+ P6 = Bill is from Detroit.

+ S0, We have:

x ((PIA~p2) v(~p1Ap2)) A ((p3A~ p4) v(~p3Ap4)) A((PSA~
p6) v(~p5Ap6)) RLi% AI i E
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((P1A~ PIV(~P1AR,)) A ((P3A~ Pg) V(~P3AR,))
=(((ps~ PIVP1ARY)) APsA~ PIVI((P1A~ PIV(=PIASS A(-P3AD,)
=(P1A~ PoAPA™ Py) V(~P1APADPA™ Py) V(P1IA~ PoA~P3AD,)
V(~P1APA~P3AR,))
FV(~P1APAPsA~ Py) VEVES
~P1AP2APIA™ Py

GREE.

(~P1APLAP3A~ PIA((PsA~PE)V(~PsAPE))
= (~P1APLAPIA~ PaA~PsAPG) FIIH E

So, Jim is from Chicago, Sam is from Boston, and Bill is from
Detroit.
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